
− 4
3

cot2x=1

0°≤x≤360°

x=
10

5°
,
16

5°
,
28

5°
,
34

5°

sin
x =

0

0°≤
x≤3

60°

cotx
=
−
1

−
180°≤

x≤
180°

sec 2x = −2
−180°≤x≤180°

cosec2x=−2

−180°≤x≤180°

x=
−
12

0°
,−

30
°,
60
°,
15

0°

cotx
=
−

−
180°≤

x

sec
x =

−1

−18
0°≤

x≤1
80°

x=
−
90°

sec 2x =− 2
0°≤x≤360°

x=60°,150°,240°,330°

−
4 3

sec
x =

−2

0°≤
x≤3

60°

x=
210°,

330°
−
2

≤
x≤

18
0°
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x=22.5°, 112.5°, 202.5°, 292.5°

x=30°,150°,210°,330°

x=
−
15
°,−

75
°,
10

5°
,
16

5°

cos
x =

0

0°≤
x≤3

60°

x=
0°,

180°,
360°

x=60°, 300°

x=60°,240°

co
t2

x
=
−

1 3

−
18

0°
≤
x≤

18
0°

x=1
35°,
−45

°

x=
±

x=1
5°,7

5°,1
95°,

255
°

sec
2x
= 2

0°≤
x≤3

60°

x=
±
180°

cot x = − 1

3
0°≤x≤360°

co
se
c
x
=
−
2

−
18

0°
≤
x≤

18
0°

cos
ec

x =
−2

0°≤
x≤3

60°

cotx
=

13

0°≤
x≤

360°

2 ≤
x≤

18
0°
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3
5

cosec2x=−2

0°≤x≤360°

x=
60
°,
12

0°
,
24

0°
,
30

0°

sec
x =

2

0°≤
x≤3

60°

cosec
x
=

2

0°≤
x≤

360°

cosec x = −1
0°≤x≤360°

co
se
c
x
=
−
1

−
18

0°
≤
x≤

18
0°

x=2
70°x=

90°

x=
−60

°,12
0°

sec
x =

5
3
. G

ive
n th

at x
is a

refl
ex

ang
le,

tan
x =

x=
±

60°

x=120°, 240°

x=120°,300°

co
se
c
x
=

5 4.
G
iv
en

th
at

x
is

an

ob
tu
se

an
gl
e,

co
s
x
=

x=
±60

°,±
120
°

−
3
5

cot2x
=
−

13

0°≤
x≤

360°

cosec2x=
2

0°≤x≤360°
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